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Summary

@ Liquidity problems may lead to inefficient investment

» focus on households, rather than on firms (as in Holmstrom-Tirole (2011))
» only 1 friction: non-pledgable labor income

> equilibrium is second-best inefficient (externalities)

@ Scope for policy intervention: creation of a “safe asset", backed by taxes

» ex-post increases output (“fiscal multiplier")
> increases ex-ante welfare (i.e. it corrects externalities)

> the optimal policy is time-inconsistent
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The framework

@ 2 agents: “doctors" and “builders”

@ 3 goods: “wheat" (w) , “doctor services" (d), “buildings" (b)

@ Technology:

» investment sector (wheat): 2e = 2Re, with R € {R", R}

> trading sector: d = Iy, b=

@ No contemporaneous trading
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@ investment in xy, X, (Securities backed by w)
@ Doctors: xg < b
© Builders x4 + xp « d

@ to sustain First-Best:
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Non-pledgable equilibrium
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Some Properties

@ Risk-neutral investors may invest in the safe asset, with lower expected yield.

marginal benefits from liquidity in state L
Vs
marginal disutility of foregone returns in state H

@ Asymmetric effects of aggregate shocks, even with risk-neutral agents.

© Low productivity lead to a drop in housing prices (relative to all other goods).
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Overinvestment in the “Safe" Asset

@ Doctors’ investment choice: taking prices as given

5. Pg)
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Effects in opposite directions, here one clearly dominates (BUT is it true more
generally?)
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@ Doctors’ investment choice: taking prices as given

vach)
-+

max rU(xt1,1) + (1 —n)ug(xf,pL
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@ At an (interior) optimum: U/, = (1 — m)Uj ,

@ Externality: investment affect prices. when x; T
@ negative externality on “doctors": pf 7= U} |
@ npositive externality on “doctors": p5 7= UL |

L
@ positive externality on “builders” Z—g T= Ué T

Effects in opposite directions, here one clearly dominates (BUT is it true more
generally?)

Scope for policy intervention!
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Policy analysis

Gov't supplies money (m) to “doctors", backed by taxes (t) on the production of “flour”

@ Unanticipated supply = labor increases (“fiscal multiplier" of 2)

@ Anticipated supply (commitment)
> Money crowds out “safe" assets = investment is more efficient

> ... trade not affected.

@ ... the policy is time-inconsistent:
> ex-post incentive to tax less than promised

» opposite of Kydland and Prescott (1978), Chamley (1986), Judd (1985)

> similar to results in debt models [e.g. Lucas-Stokey (1983), Debortoli and Nunes (2013,
JEEA)]
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Other Comments / Suggestions

@ Key friction is non-pledgability of labor income. In reality most loans are backed by
“goods".

What if “doctors” could use their purchases as collateral?
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@ Key friction is non-pledgability of labor income. In reality most loans are backed by
“goods".

What if “doctors” could use their purchases as collateral?

@ What does the "safe" asset, of which there is over investment, correspond to?

» Authors mention AAA - MBS ... but their supply increased during a credit boom.
> Not gov't bond, money ...

@ If gov't liquidity is financed by distortionary labor taxation, the fiscal multiplier could
be lower (even negative) recent crisis.
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